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WORKSHEET 1.16: SUBTRACTING INTEGERS

You can subtract integers by rewriting the subtraction problem as addition. Follow the steps
below:

%. Change the subtraction sign to addition.
Z. Change the sign of the second number to its opposite.

4. Follow the rules for adding integers.

EXAMPLES
~3-15= 6—10= ~5—(-20) =  8-(-2=
34 (=15 = b4 {10 = 5420 = 842 =
~18 —4 15 ; 10

DIRECTIONS: Find each difference.

1, 8—15 2. 312 3, 1% (=4
b 12—(=16) 5. 8-(-8 & 0-5
. —6—9 5. 8-8 9, —7-—4
10, 20— [—15) 11, =18 —[=4) 12, 911

CHALLENGE: Write the steps for solving the following subtraction problern.
Then find the difference. —3 — (—10 — 6}

33
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WORKSHEET 1.16: SUBTRACTING INTEGERS

You can subtract integers by rewriting the subtraction problem as addition. Follow the steps
below:

1. Change the subtraction sign to addition. 1 A Db th 1) O P POS ETE

)
:

Change the sign of the second number to its opposite.

3. Follow the rules for adding integers.

EXAMPLES
~3-15= | 4—10= . —5—(-20= - )
—3+[ = | 6+ l-10) = ~54+20= C B+2=

-18 —4 15 10

DIRECTIONS: Find each difference.

7. 8-15 2. 3-12 R
& 12 —(-16] . 8—(-8 6. 0-5

2.8 |0 -5

T, —6-9 £, 8-8 9, —T7—-4

i
—15 O =
10, 20— (-19) 1. —18—[|—4] 12, 911

35 -4 -1

CHALLENGE: Write the steps for solving the following subtraction problem.
Then find the difference. —3 — (-10 — 6)

Rewrite the problem as =3 - (10+(-6))
Find the som of “10¢7b —3- (‘*M})
Rewrite, the P\f@iﬁﬁﬁﬁf"a AS -3t 10

Find the sumof -3 1¢106 | 3



